MIND QUIZ

BT MR

CLASSIFICATION: Memory game

The secret code is a sequence of four shapes chosen from six. Crack
the code in less than eight attempts and you have won the game!
A circle means that you have the right shape in the wrong position
and a coloured circle indicates the right shape in the right position.
Use the keys numbered ‘1’ to ‘6’ to select a shape. The ‘DEL’ key
can be used to change the shapes entered.

PROGRAMMING SUGGESTIONS

The game could be made more difficult by increasing the number of
objects included in the code. Alternatively, if you find this game a little
difficult, then try allowing extra guesses, or having different levels of

play.
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PROGRAM

Variables

CHRVAL(6) Character values of shapes 1-6
COLS(6) Colours for shapes

ANSNUM(4) Answer in digits 1-6

ANSWER(4) Answer in character values
GUESS(4) Player's guess

LEVEL, COLUMN Level (9-6) and column (@-3)
CORSHP No. of correct shapes in GUESS(4).
CORSHPPOS No. of correct shapes in correct positions
MES$ Message string

T6), 1, J Temps

Program Structure

Lines Function/Activity

10 — 415 Initialise

430 — 400 Editor

1000 — 1040 Check Guess

1060 — 1120 Print Result

5000 — 5020 Print Message

8000 — 8050 Game lost

9000 — 9040 Game won
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MIND GUIZ

Initialise game

INEC @, 178 ¢ INK L, & & TNK 2, @ 5 INK &, 3
+ BORDER 11 3 CLS
A SOCATE 4, 2 2 FEN 1

0

PRINT CHRS (151 )3 BTRINGSC 7, 154 )3 CHRE( 157 )3 CHR$

(10 ) STRINGEC 9, 8 )3

60  FRINT CHR$( 149 )y STRING®( 7, 32 )3 CHR$( 149 )3 CHRE(

10 )5 STRINGS( 9, 8 )y

70 FRINT CHR$C 149 )5 STRINGH( 7, 32 )3 CHR$( 149 )3 CHRS$(

10 )5 STRINGEC 9, 8 )

90 RETURN

100 FOR T = 1 TO 7 : GOSUB 50 : NEXT

110 PRINT CHR&( 147 )5 STRINGE( 7, 184 ); CHRE( 153 )

120 LOCATE 4, 2 : FRINT CHR$( 150 )3 STRINGE( 7, 154 )3 CHR
F( 156 )

130 FEN 2 1 LOCATE 2, 5

140 T$ = CHR$( 10 ) + CHR$( 10 ) + CHR$( 8 ) & PRINT "M"y T
.t;; n I n g “l":a:.‘ " I\lH “ “I":s; " DII : T'£; n A.“ a “‘]"*i " [:_2!! = "I':g; lILJII ; 'r:‘s;

n‘[ua [$= VAl

150 FEN 1 3 FOR I = 7 10 22 1 LOCATE
9 )5 BRAC 7 )3 CHREC 149 ) & NE

LOCATE 27, 2 1 FRINT CHR#( 150 )y

(156 )

170 LOCATE 27, 3 3 FRINT CHR#( 149 )3 STRINGS( 7, 32 )3 CHR
$¢ 149 )

180 LUCATE 27, 4 ¢ PRINT CHR#( 149 )3 STRINGSC 7, 32 )3 CHR
#( 149 )

190 LUCATE 27, & & FRINT CHR$( 147 )3 STRING$( 7, 154 )3 CH

I s FRINT CHR#( 14

BTRINGEC 7, 184 )3 CH

LN L

T i
LN 1 fOFRINT CHREE O A

L FRINT "ham e 0 FEN S ¢ FRINT CHR$C 214

1869 )
2 FRINT CHR#E( 42

16 1 FRINT "4,=,"3
19 1 FRINT "5,

L FRINT "é,=,"s ¢ FEN I @ PRINT CHR®( 2268
)
260 FEN 1 @ LOCATE 24, 7

Fw]Nf ) 2

FRINT "Riaght" @ LOCATE 24, 8 1 F

t O FRINT "Right" ¢ LOCATE 24, 1% 3 FRINT "

s FRINT c-\ﬁ(i "oy 4y 17 8 PRINT "R
24, 18 2 P T
TS N/

P OFRINT CHRE (

230 )

- INTC RNDC 1 ) % é: .
TC I L T+ 12 ANBNUMC ) = T 1 ANSW

rOCHRVAL C S ) = 2
= 4% 5 CHRVAL C & )

ANSGWER
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41@
415

420
470

455

440
450

99

1200
1010
1020
1350

1040

1050
1060
1270
1080
1090

1100

4‘? 4"

= 2 3 COLSC X)) = 3 3 COLSC 4
COLEC & ) = 1

COLsc 1 ) =1 « COLSC |
) = 1 o2 COLSC S ) = 2

Editor

IF INKEY( 79 ) = -1 THEN 440 ELSE IF COLUMN = @ THEN 43

"]

COLUMN = COLUMN -~ 1 ¢ LOCATE S + COLUMN * 2, 21 - % * L
EVEL ¢ PRINT "." @ 6070 500

X% = INKEY# : IF X& < "1" OR X% > "6" THEN 430

FRINT CHR&( 7 )y @ GUESS( COLUMN + 1 ) = CHRVAL( VAL X
£ ) ) LOCATE & + COLUMN * 2, 21 - 3 % LEVEL 3 FEN COLS
C VAL C X&) ) & PRINT CHR#$( GUESS( COLUMN + 1 ) ) » COLU
MN = COLUMN + 1

IF COLUMN = 4 THEN MSEE = "Checking.your.answer" 1 GOBU
BOOSOOO :» FOR T = 1 TO 1000 = NEXT ¢ GOTO 1000

FOR I = 1 TO 100 : NEXT : GOTO 430

Check guess

CORSHF = @ 1 CORSBHFPOS = @ ¢ FOR I = 1 TO 4
H— GUESS( T ) = ANSWERC( T ) THEN CORSHFFOS = CORSHFFOS

1) OR ANSWER( I ) = GUESS( 2 )
) o= GUESSC X ) OR ANSWERC T ) = GUESS( 4 )
LORGHF + 1

*wm CORBHF ~ CORBHFFOS

THEN
NEXT 3

Print result

IRE THEN 10680
2 FOR I = 1 T0O CORSHF @ LOCATE 13 + I, 21 - X »* L
FRINT CHRE C 230 ) 2 NEXT
08 = @ THEN 1100

o= 1 TO CORSHFFOS 3 LOCATE 13 + I + CORSHF
FRINT

LF

CHREC 231 ) 1 NEXT
1oy MEGE = SFACEFC XD ) 3
THEN Y000

: GOSUR S000 : GOTO 4730

Print message

FEN 1 ¢ PRINT STRINGE( 38, 32 )
FRINT MSGE

kklunm
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7990
8000
8010
8020
8050

B3040
8A50

B8990
K000
9010
F020

FAEQ
040

Game lost

MEGE = "No,luck.thistime,'" @ GOSUR S000 1 FOR [ o= 1 |
0O 2000 : NEXT 1 MEGE = "Here.is.the.correct.answer" : (G0
SUE S000

FOR T = 1 TOD 4 : SOUND 1, S0 - 10 * I, 1%, 15 ¢ FEN COL
SC ANSNUMC T ) )
LOCATE 26 + 2 % 1, 2 1 FRINT CHR$( ANSWERC I ) ) 5 NEXT

= 1 TO 2500 = NEXT
B3GF = "Fress ,a.bey foranother game” @ GOBUR %000
TF INEEY#$ = "" THEN 8050 ELSE RUN

Game won

H

MEGE = “GURFERE, ! EI L rrrrrrtnnin oy gOSUR 5000

FOR T = £ TO 4 3 SOUND 1, 2@ - & % 1, 4%, 15 ¢ PEN COLS
CANSNUMC T ) )

LOCATE 26 + 2 % I, 3 ¢ FRINT CHR&( ANSBWERC T ) ) @ FOR
J o= 4 TO 400 3 NEXT & NEXT

MEGEF = "BETLYOULCAN T, DOLITLTWICEL! ! ¢ GOSUB %5000
IFOINKEYE = "' THEN 9040 ELSE RUN

ChexSum Tables

g OEHE B EHSEYE®

ER

i#E B

1A6QD =
1A70 =

1080 =
1Q9@ =
1100 =
111@ =

L12@ =

4990 =
HOOQ = LER
5010 = 896
5020 = 20l
7990 = @
8OO0 = 7589
8010 =
BO2Q = :
BOIQ = 1366
s 5647

[}
2934
4648

ol

TOTAL = 200596

131



